
AP Statistics – Binomial Models Practice Name: ___________________________________  Per: ____ 
 
1. A die is weighted so that the probability of rolling a “6” is 0.48.  The die is rolled 18 times. 
 

a) Find the probability that the die lands on a “6” exactly 11 times. 
 
 
 
 
 
 
 
 
 

b) Find the probability that the die lands on a “6” either 7 or 8 times. 
 
 
 
 
 
 
 
 
 
 

c) Find the probability that the die lands on a “6” no more than 5 times (this means 5 times or fewer). 
 
 
 
 
 
 
 
 
 
 

d) Find the probability that the die lands on a “6” at least 4 times. 
 
 
 
 
 
 
 
 
 
 
 
 

 


